SGS <W'Q,> 1km Ice Only

5000 T T . ;
SHOC Stats 602d 1km
Moments 805d 1km
4000 1
‘E 3000 ]
=
2
o 2000 i
T
1000} 1
0 i 1
0 0.2 0.4 0.6 0.8 1
Variance (kg *ms™) x10”
SGS <W’Qt’> .5km Ice Only
5000 : . : :
SHOC Stats 603d .5km
Moments 805d .5km |
0 0.2 0.4 0.6 0.8 1

Variance (g kg tms™

x 10

4

Height (m)

Total <W'Q/> 1km Ice Only

5000 - T . :
SHOC Stats 602d 1km
Moments 805d 1km
4000 1
3000 -
2000 _
1000 -
0 !
0 0.2 0.4 0.6 0.8 1
Variance (kg *ms™) x10”
Total <W’Qt’> .5km Ice Only
5000 : . . :
SHOC Stats 603d .5km
4000 Moments 805d .5km |
3000 -
2000 -
1000 _
0 !
0 0.2 0.4 0.6 0.8 1

Variance (g kg tms™

x 10

4



